PO # 151499 FORT BEND COUNTY ENGINEERING

CHANGE ORDER

Distribution:

☑ FBC Engineering

☑ FBC Judge

☑ FBC Purchasing

☑ Contractor

☑ Consultant

Address:

301 Jackson Street

Richmond, Texas 77469

Phone:

281-633-7500 281-342-7366

Fax: Web site:

www.FortBendCountyTx.gov

PROJECT: Bellaire Blvd. from FM 1464 to San Pablo Drive Paving and Drainage Improvements.	CHANGE ORDER NUMBER DATE		05 5/16/18
	PROJECT NUMBER		13202
CONTRACTOR:	CONTRACT FOR		3,772,635.08
Allgood Construction Co. Inc.	CONTRACT DATE		3/28/2017
1702 Settegast Ranch Rd. Richmond, Texas 77406	FBC PURCHASE ORDER NO		151499
The contract is changed as follows: The following change order is to adjustment final con Not valid until signed by Fort Bend County a		ttached for	documentation.
The Original (Contract Sum)		\$	3,772,635.08
Net change by previously authorized Change Order	S	\$	47,595.46 🗸
The (Contract Sum) Prior to this Change Order wa	s	\$	3,820,230.54
The (Contract Sum) will be ⊠ increased or □ of by this Change Order in the amount of	decreased or unchanged	\$	49,046.50
The new (Contract Sum) including this Change Ord	der will be	\$	3,869277.04 \vee
The Contract Time will be ☐ increased or ☐ decided the Date of Substantial Completion as of this Chan ☐ ch		18.	
Auth	norized:		
301 Jackson Richmond, Texas 7469 Richmond, T By: (signature) (signature)	truction Co. Inc. St Ranch Rd 77,406 By:	end County ble Robert E skson St., #7 Ind, Texas 7 Ind, Texas 7 Industrie)	Hetjert 19 1 7459



FINAL QTY ADJUSTMENT

PROJECT:

Bellaire Blvd -

DATE:

5/15/2018 5

OWNER:

Fort Bend County

CHANGE ORDER NO. JOB NO.

13202

CONTRACTOR:

Allgood Construction

REQUEST:

FINAL QTY ADJUSTMENT

Contract Amount

\$3,772,635.08

Previously approved CO 001

\$21,420.00

Previously Approved CO 002

\$2,873.00

Previously Approved CO 003

-\$10,496.70

Previously Approved CO 004

\$33,799.16

Amount this CO 005

\$49,046.50

New Contract Amount

\$3,869,277.04

Item No.	Item Description	Unit Measure	Bid Quantity	Bid Cost	Bid Total	New Quantity	Item Price		New Item Total	Tot	tal Change in Price
	DEDUCT			·							
15	ROADWAY EXCAVATION WITH OR WITHOUT SUBGRADE	CY	11845.00	\$ 8.78	\$ 103,999.10	11,658.00	\$ 8.78	\$	102,357.24	\$	(1,641.86)
16	LIME STABILIZED SUBGRADE 8-INCH THICK	SY	19162.00	\$ 2.57	\$ 49,246.34	19,039.00	\$ 2.57	\$	48,930.23	\$	(316.11)
17	LIME FOR LIME STABILIZED SUBGRADE (DRY WEIGHT)	TON	460.00	\$ 182.52	\$ 83,959.20	450.00	\$ 182.52	\$	82,134.00	\$	(1,825.20)
18	REINFORCED CONCRETE PAVEMENT 8-INCH THICK	SY	16687.00	\$ 43.25	\$ 721,712.75	16,314.00	\$ 43.25	\$	705,580.50	\$	(16,132.25)
22	6-INCH CONCRETE CURB (MONOLITHIC)	LF	11400.00	\$ 2.57	\$ 29,298.00	11,277.00	\$ 2.57	\$	28,981.89	\$	(316.11)
45	REINFORCED CONC. BENT	CY	37.00	\$ 945.00	\$ 34,965.00	34.00	\$ 945.00	\$	32,130.00	\$	(2,835.00)
63	REINFORCED CONC. BENT	CY	37.00	\$ 945.00	\$ 34,965.00	34.00	\$ 945.00	\$	32,130.00	\$	(2,835.00)
	REINFORCED FILTER FABRIC BARRIER (60% OF THE UNIT COST FOR FURNISH AND INSTALL AND 40% OF UNIT COST FOR REMOVAL)	LF	560.00	\$ 1.46	\$ 817.60	-	\$ 1.46	\$	-	\$	(817.60)
	ROCK FILTER DAM TYPE 3 (60% OF THE UNIT COST FOR FURNISH AND INSTALL AND 40% OF UNIT COST FOR REMOVAL)	LF	60.00	\$ 29.25	\$ 1,755.00	-	\$ 29.25	\$	-	\$	(1,755.00)
92	EXTRA PLACEMENT OF BACKFILL MATERIAL	CY	50.00	\$ 10.00	\$ 500.00		\$ 10.00	\$	-	\$	(500.00)
93	EXTRA MACHINE EXCAVATION	CY	50.00	\$ 10.00	\$ 500.00	-	\$ 10.00	\$		\$	(500.00)
95	CEMENT STABILIZED SAND	TON	100.00	\$ 18.50	\$ 1,850.00		\$ 18.50	\$	•	\$	(1,850.00)
96	TDLR FINAL INSPECTION	LS	1.00	\$ 1,000.00	\$ 1,000.00	0.64		_			(360.00)
							DEDU	CT S	SUBTOTAL	\$	(31,684.13)

Item No.	Item Description	Unit Measure	Bid Quantity		Bid Cost		Bid Total	New Quantity	Item Price	New Item Total	Tot	tal Change in Price
	ADD											
19	5 & 6 FOOT WIDE SIDEWALK - 4 1/2 INCH THICK	SY	2876.00	\$	52.65		151,421.40	2,973.00				5,107.05
37	5 " REINFORCED CONCRETE SLAB	SY	881.00	\$	105.00	\$	92,505.00	907.00		,	1 '	2,730.00
39	BRIDGE APPROACH SLAB	CY	68.00	\$	367.50	\$	24,990.00	78.00	\$ 367.50	\$ 28,665.00	\$	3,675.00
	6" THICK REINFORCED CONCRETE BRIDGE SIDEWALK	SF	1643.00	\$	15.75		25,877.25	2,240.00			<u>'</u>	9,402.75
	BRIDGE MEDIAN (2 FEET WIDE)	SF	528.00	\$	15.75	_	8,316.00	560.00			<u> </u>	504.00
44	REINFORCED CONC. ABUTMENT	CY	41.00	\$	1,260.00		51,660.00	58.00	,	*	<u> </u>	21,420.00
51	SEALED EXPANSION JOINT (4")(SEJ-A)	LF	128.00	\$	105.00		13,440.00	136.00	*	\$ 14,280.00	<u> </u>	840.00
55	5 " REINFORCED CONCRETE SLAB	SY	587.00	<u> </u>	\$105.00		61,635.00	604.00	*	\$ 63,420.00	_	1,785.00
57	BRIDGE APPROACH SLAB	CY	68.00	\$	367.50	<u></u>	24,990.00	78.00		\$ 28,665.00	_	3,675.00
58	BRIDGE MEDIAN (2 FEET WIDE)	SF	352.00	\$	15.75	\$	5,544.00	400.00	\$ 15.75	\$ 6,300.00	\$	756.00
	6" THICK REINFORCED CONCRETE BRIDGE SIDEWALK	SF CY	1146.00	\$	15.75		18,049.50 51,660.00	1,600.00 56.00			<u> </u>	7,150.50 18,900.00
62	REINFORCED CONC. ABUTMENT	LF	194.00	\$	78.75	<u> </u>	15,277.50	199.00		1 - /		393.75
67	HARRIS COUNTY PEDESTRIAN RAIL	LF	128.00	\$	105.00	_	13,440.00	136.00	•	\$ 14,280.00		840.00
70	SEALED EXPANSION JOINT (4")(SEJ-A)	LF	500.00	\$	1.58		790.00	728.00	•	\$ 1,150.24	<u> </u>	360.24
74	REFL PAV MRK TY I (W) 8" (SLD)	LF	1800.00	\$	0.71	Ľ.	1,278.00	2.859.00		1' '		751.89
77	REFL PAV MRK TY I (W) 4" (BRK)	EA	4.00	\$	138.06	<u> </u>	552.24	9.00				690.30
80	REFL PAV MRK TY I (W) (ARROW) (LT) (SLD)	EA	7.00	\$	134.55		941.85	9.00	•	\$ 1,210.95	<u> </u>	269.10
81	REFL PAV MRK (ELONGATED WORD "ONLY")	EA	25.00	\$	239.85		5,996.25	29.00		1		959.40
	ALUMINUM SIGNS	1		₩.					· · · · · · · · · · · · · · · · · · ·		+ -	520.65
89	TRAFFIC CONTROL - FURNISH, INSTALL AND REMOVE - BARRICADES, BARRIERS,BARRELS, CONES, SIGNS, ETC- COMPLETE IN PLACE'	MONTH	12.00	\$	520.65	>	6,247.80	13.00	\$ 520.65	\$ 6,768.45	>	520.65
		• •	-			-			ADD	SUBTOTAL	Г	\$80,730.63

TOTAL	\$49,046.50

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

			<u> </u>							
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	OFFICE USE ONLY CERTIFICATION OF FILING								
1	Name of business entity filing form, and the city, state and country of business.	tity's place	Certificate Number: 2018-355034							
	Allgood Construction Company, Inc.			0001						
	Richmond, TX United States			Date Fil						
2	Name of governmental entity or state agency that is a party to the	e contract for which t	he form is	05/17/2018						
	being filed. Fort Bend County Purchasing Department	Date Acknowledged:								
	For Bend County Furchasing Department	06/05/2018								
2	Provide the identification number used by the governmental entit	ty or state agency to	track or identify							
3	description of the services, goods, or other property to be provid			and cont	aog and pro					
	17-057 Construction of Bellaire Boulevard from FM 1464 to San Pablo	o Drive (Change Ord	der #5-Final qty	adjustm	ent.)					
4					Nature of					
	Name of Interested Party	ested Party City, State, Country (place of bus								
					Controlling	Intermediary				
_			·							
			7 m 1 mm			_				
				-						
5	Check only if there is NO Interested Party.									
6	UNSWORN DECLARATION									
	My name is		and my date of b	oirth is		·				
	My address is	,		•		, .				
	(street)	(city)	(sta	ite)	(zip code)	(country)				
	I declare under penalty of perjury that the foregoing is true and correct									
	Executed inCounty	, State of	, on the	day	of	_, 20 .				
				,	(month)	(year)				
		Signature of authoriz	zed agent of contr	racting by	Isiness entity					
		Signature or authoriz	(Declarant)	acarig bl	aomicoo emily					